Problem 1 (6 points). Find a besis B of R such that the %B-matrix of the linear

transformation
N ]
T{E) = [ p 3] F

s e
5 Wy
T
or explain why one does not exist.
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Problem 2 (6 points). Find a basis for the kernel of A, and determine the dimension of
the kernel of A. N
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Problem 3 (6 points). Find an orthonormal basis of the 1@@ of the matrix
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Problem 4 (6 points), Find a basis % in B? such that the B-matrix of the vertical shear
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is diagonal, or explain why this is not possible, o
B - B \ 7 - .
J':Lﬂ‘ i - | @ | A, =
5 basls | 4 xd

4 A ) ~

t
-3 e -y
C’c b= A v | — ( V.
. I rs P .
o B 8 i -

(i\
ORIE o
. . ‘ s - .
O (‘:Z—)’ C{) L [ s/u ,/L 28 @‘4—&/1 IZQ Lf‘—:\'f: f‘og"‘éj;‘;(
0 { [ < vg{’(‘r,\//ﬁ . \;,J ; L/:j ‘ ':D W__g.[ A gl
}\/ o l i\ ) wot foanisondy ndoge Ao
. ‘ / i

- ': (:’_'J
~ o connd ot o Ko,

.Y -
l‘ O\ _ O /bf— c;vf;j,{) P {(_L’.»‘A ,/;;Q’{,-._d_,p_ /q}gm?/ﬁ_{f;nfpgé/;

- - - / ' C (-
Wﬁﬁ' oo Folatoon I A yb-\x;‘t_:ziv-r-,q_
N

] = . N
W“\f-f?:T )651, 0&&@-3‘*' o G} vl /lavj

i )

i
I

8 4 K ’ k‘ :
[ ¥ B
AAd e »l‘l/\{_ \rrr- (,:f\,u.,ll et »"} \ -t -lr;'«u" dv

. ' | - . =
% - Al o {l:r ﬁ.ﬁ‘,,-{p_/\,f’ i 1/‘-’1-4” . U‘-/— '{; D:rf l/! # [ - (.I'\’I(
b

-

gt M et L lfu'vE:?_j [ R ]

ey
[ ')/' .




